FHZALI—F

HPC1-CPD578, HPG-CPD278 M 1/ —% —HHH NEETE

COOWREIZa LV /NNL—42 3, avN\L—32 4, F=Fa A L—2 50— TJI 1,
4 (HPCI-CPD578 M) T3 o/ \L—4A LhEHERNEE h %I DHeETT
CCTlIEJ 1, J2arPRITHATBARICOVWTEHRBALET

1. 1 aY/\L—42 3LERERNESBHA

{FRSOBEL X4 4 RENVA), a>/8L—4 3 (RCMP3),
1. 1. 1 BELTX4S 4 (RENVY)

BRTE

CHOLCRETCMP 3&HEEHRELET

() LtEEEH D 25 DER
#1725 1 (RCTRT) DB
#5172 2% 2 (RCTR2) DB
#5172 2% 3 (RCTR3) DEF
717223 4 (RCTR4) DEF

RENV4 bit17, 16
00
01
10
11

D aNNL—2tERAE
ROMP3 = LkBh 5 (ho v bARERER)
ROMP3 = LkBAI 2B (v b7y )
ROMP3 = LEBAI VB (hov bEDIY)
ROMP3 > DD %
ROMP3 < EEEEANH %

RENV4 bit20-18
001
010
011
100
101

@) 3 L — B FHRIR DR

RENV4 bit22, 21 = 00

1. 1. 2 aVnNL—483TF—485%E

ROMP3 (2L T —% ERE

1. 1. 8 #FLavkR—rBE
COTSEL1 (X~U%h)),

COTSEL2 (V~B#) IZEZAHFT

J3aRYAIZH AT BIEE (HPCI-CPD578 MDA) J 3 COUTIZHEZAAET

#R)NAIN—T v

J2axyAFEf-IEZJ3axy

AT avR—MIBEELET.

COTSEL1 £%5€ (X-U) COTSEL2 %7€ (V-B) J3COUT %%E
CPD578 (Base+0x8c) CPD578 (Base+0x8e) CPD578 (Base+0x8a)
CPD278 (Base+0x48) CPD278 (Base+0x4a) J3IMACH BT BIGE

X CMP 3&EHRILTH AfF bit1,0 = 00 — bit0 = 1

Y " bit3,2 = 00 -— bitl =1

Z " bith,4 = 00 -— bit2 =1

U " bit7,6 = 00 -— bit3 =1

\Y " -— bit1,0 = 00 bit4d =1

W " -— bit3,2 = 00 bith =1

A " -— bith,4 = 00 bité =1

B " -— bit7,6 = 00 bit7 =1

[ e/ 1]

// XEhD CMP3 £44 CTR2 = 10000 (Hry > FARERR) THADES

cp530_wReg (nDev, 0, 0x9f, 0x00050000) : /) BRIBERES - oo 1. 1. 1

cp530_wReg (hDev, 0, 0xa9, 10000) : // CMP 3LEET—42 =« « « = 1. 1. 2

cp530_wPortB (hDev, 0x8c, 0x00) ; /] AT aR—bERE 1. 1. 3
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FU=ALS—F

1. 2 aVINL—R 4B ERNEBHA
EARBHDIRBEL X2 4 RENV4A), a2/SL—4% 4 ROMP4), #FLaR—KMIRELET

1. 2. 1

REL TR 4 4 (RENVY) B5E

CHOLCRETCMP 4&HEERELET

() teEEH o 25 DER
#1725 1 (RCTRT) DB
#5172 2% 2 (RCTR2) DB
#5172 2% 3 (RCTR3) DEF
#1723 4 (RCTR4) DEF

RENV4 bit25, 24
00
01
10
11

(2 avINL—3 B AE
ROMP4 = LEBD B (hor b ARERER)
ROMP4 = LEBAH VB (hov b7y T)
ROMP4 = LEBAI VB (hov bEHIY)
RCMP4 > EEEDH %
ROMP4 < EEEENH %

RENV4 bit29-26
0001
0010
0011
0100
0101

@) 3 /L —Z FHRIR DR

RENV4 bit31,30 = 00

1. 2. 2. aAVNL—B4T—48B%E

ROMP4 (27 —% % EXE

1. 2. 3. #F¥avkR—+
COTSEL1 (X~U%h)),

BRTE

COTSEL2 (V~B#) ITEZAHFT.

J 3R BIZH AT BIEE (HPCI-CPD578 MDA) J 3 COUTIZHEZAAET.

#R)NAIN—T v

COTSEL1 £%5€ (X-U) COTSEL2 %7€ (V-B) J3COUT %%E
CPD578 (Base+0x8c) CPD578 (Base+0x8e) CPD578 (Base+0x8a)
CPD278 (Base+0x48) CPD278 (Base+0x4a) J3IMACH BT BIGE
X CMP 4 &L TH Ak bit1,0 = 01 — bit0 = 1
Y " bit3,2 = 01 -— bitl =1
Z " bith, 4 = 01 -— bit2 =1
U " bit7,6 = 01 -— bit3 =1
\Y " -— bit1,0 = 01 bit4d =1
W " -— bit3,2 = 01 bith =1
A " -— bith, 4 = 01 bité =1
B " -— bit7,6 = 01 bit7 =1
[ EREH 1
// X EhD CMP4 £44 CTR2 = 10000 (Hry > FARERR) THADES
cp530_wReg (nDev, 0, 0x9f, 0x05000000) : /) BRIBRES - oo 1. 2.1
cp530_wReg (hDev, 0, 0xa9, 10000) : // CMP 4LEEBT—R « « « » 1. 2. 2
cpb30_wPortB (hDev, 0x8c, 0x01) ; // CMP4AHAH =+« « « « « 1. 2. 8
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THO=ZHhIL/—F
#R)NAIN—T v

1. 3 aV/INL—42 5B ERNEBH B

AVINL—A5HBRT—AETILSREANHYET
MSTS®Dbit15=0 (PROMP5ZEZE) 7 SIEPROPS [CRRIZTF—AREE\AL T ET, FEOATOaSL—2HAN
HWEETY. [FRAMOBEL X425 RENVS), a2/SL—4 5 (PRCP5), A7 3 oFR— kB ELET.

1. 3. 1 BEBELTCX425RINSG)®E
CHOLPCRATCMPS&BE8BELET

() L8 H D 25 DER RENVS bit2-0
#1725 1 (RCTRT) DB 000
#5172 2% 2 (RCTR2) DB 001
#5172 2% 3 (RCTR3) DEF 010
#7172 23 4 (RCTRA) DEF 011
F&E5%/ LR (RPLS) DEF 100
REEET—4 RSPD) DFf 101

(2) AL —3 B AE RENVS bit5-3
ROMPS = LkBh ™ B (hor b ARERER) 001
ROMPS = LkBAHI 2B (hov b7y ) 010
ROMPS = LEBAI VB (hov bEHY) 011
RCMPS > DD % 100
ROMPS < EEEAH % 101

@) 3 v\ L—E EHRIRONE RENVS bit7,6 = 00

1. 8. 2 aVNL—485TF—48B%E
PRCP5 [ F—% %57

1. 8. 8 #AFvavkR—IrBE

COTSEL1 (X~U#), COTSEL2 (V~B#) IZEZAHFT.
J3aRYAIZH AT BIEE (HPCI-CPD578 MDA) J 3 COUTIZHEXAAET

COTSEL1 £%5€ (X-U) COTSEL2 %7€ (V-B) J3COUT Z%E
CPD578 (Base+0x8c) CPD578 (Base+0x8e) CPD578 (Base+0x8a)
CPD278 (Base+0x48) CPD278 (Base+0x4a) J3IMACH BT BIGE

X CMP 5 &L TH Ak bit1,0 = 10 — bit0 = 1

Y " bit3,2 =10 -— bitl =1

Z " bits,4 =10 -— bit2 =

U " bit7,6 = 10 -— bit3 =1

\Y " -— bit1,0 = 10 bit4d =1

W " -— bit3,2 =10 bith =1

A " -— bits,4 =10 bité =1

B " -— bit7,6 = 10 bit7 =1

o
[ E&EH ]
// X &0 CMP5 544 CTR2 = 10000 (H > bARERBER) THADES

cp530_wReg (hDev, 0, 0xa0, 0x00000009) ; /) BIBEETESDS v v oo s e e e 1. 3. 1
cp530_wReg (nDev, 0, 0x8b, 10000) : // CMPSLET—R =+« « « 1. 8. 2
cp530_wPortB (hDev, 0x8c, 0x02) ; // CMPBHA =+« =« v oo 1. 3. 3
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